Sissybar
HIGHWAY HAWK Triumph Thunderbird

\ foop iront?
10 U Art e 526-1030A

L > )
PR |

526-3030

526-1030

Components

Side bracket

Bolt M10 (1.25) x 60
Bolt M8 x 35

Bush @18 x @10.5x5

Bush @18 x@85x5
Washer M10
Washer M8

~w| ||| =
R R R RRRIR

T jp— % .
Z — ﬂ&% Model for Thunderbird 1600

This accessory should be mounted by a professional mechanic only. © Moto-Lux Specialties B.V.
MotoLux Infernational B.V. / Highway Hawk can not he held responsible for improper installation. RBarneveld - The Netheriands




